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double A[N][N], B[N][N]}, **temp;
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void
work(int my_pid)

{

)

int i, 3, k;
int chunk_size, kstart, kend, jstart, jend, rootP;

rootP = (int)sqgrt(P);
chunk_size = N / rootP;

kstart = {my_pid % rootP) * chunk_size;
kend = (my_piad % rootP + 1} * chunk_size;

jstart = (my_pid / roctP) * chunk_size;
jend = (my_pid / rootP + 1} * chunk_size;

if {(kstart == 0) kstart = 1;
if {(kend == N) kend = N-1;
if {(jstart == () jstart = 1;

if {(jend == N) jend = N-1;

for (i = 0; 1 < n_iterations; i++) {
for (j = jstart; j < jend; j++) {
for (k = kstart; k < kend; k++) {
bI[31(k] = {A[{j-1][k] + AL[Jj+1]1[k] + Aljl(k-1]
4.0;

barrier (NUM_PROCS) ;
}

int
main()

{

int i;

initialize({A);

for (i = 1; i < NUM_PROCS; i++)
create_thread(i, work, i}:

work(0) ;

+ A{j1[k+1]) /

1,





